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Instrictions

. Ths paper consists of sections A, Band C

7. Answer all questions m sections A and B and three (3) guesnons: [rom section C

Electronic caleulators ate not allowsd in the examunation rOOM

Callulat phones are not aliowed n the examinabion 1O0IMm

. Wote vour Examination Number on af vour answer bookleils)

B )

SR

oo

nol 4 ;"xrl"n’['u‘}:-"

TRy paper o

Iy |




SECTION A (10 marks)

Answer all guestions in this section.

1. For cach of the items (1) - (x) choose the correct answer from amang the given alternatives and
write its letter beside the tem number
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Arsenic, antimany, and phosphonas are all

A pentavalem

B tetravalent

C trivalent

0 coeptar

E heavy electron 1n their arbits

The relaticashp between a and [§ 15 given by

: o
o p=—
0

C a
| 5 I'
D a=l+p
' 1
E e r=n
l'.
Ay 18 ¢catled the

A ap gain

B ga1n with feedbacs

C feedback factar

D gain withaut feadback
E POWES g8

The function of 2 diode 15

A to activate signals

B [0 CONVETT NS 1.C. 10 4.C. 10 the large input wavefomm
for rectification

D to store electnic energy

F to control the flow of currem

A full-wave, bi pl_uu rechiiser r‘lli;";n"f,': dirunstormer whose secondary 15 1X.0.300 v

-

rans £ 1he cirvun 38 feeding o load resistance of 135 X0 the averaps OUIpUL current 15

kS 2 mA

B | mA

C | 414 mA
D 2 K825 mA
3 10 mA

Magnetic deflection is used n TV picture tubes

A because the cotls occupy less space than the plates used for electrostatio
3 to make possible the very wide angle deflection roquired
C because of the high scanning frequency
D because berter picture quality is possible
|5 because of the sienplicity of the method
A
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1) Micro-farad 12 2 unir of
A powes
B capacitance
C Voltage
D charge
3 resistance
(vai) The device which controls the Sow of current is called
A currens
13 ICEISion
. capacitor
D inductor
E zennet
{1x) An oscillator ts
A & tuned pmplifies whereby some of the outpat energy is fed back to the input to

e ou p

I

B an mtermediate cncy 4:1.;’~|11 £F 10 A 72010 receiver
L p frequency modudator curduit
D DO 3 STt o electron
i a0 antonns
%) Whach of the following equatons 15 true when the ransistor 18 operating normally?
. e =1
B l; | P
L | f l
D fe = Ip~ 1
E i

SECTION B (30 marks)

Apnswer all questions in this section,

Define gain as applied to amplifiers

Diraw on the sume uxis, choosing suitable scales, typical charactenstes for silicon and germanium
!

GIOES

State three (3) uses of 1.£. oscillators

State three (3) advantages of using integrated circwins over discréle component cirguils:
State three (3) ways in which radio waves travel,

Explain briefly the terms a.g.¢. and afc

Explain with the help of a diagram the term *side frequencies’ in A.M

Stite two (2) ways of using a variable resistor

What vilue of capacitunce would give o resistance of 50 0 a1 700 Hz?

Distinguish berween choke and capagitor in operation.
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(a)
(b)

{c)

1a)

(b)

<)
feedback. Find the
2
i) Value ol |
8] l“.'f\.‘L”l!;‘..'*,' recduced 1 g Wil Lhe pin s thout feedbacs falls by
(a) Name two (2) application s 7ermer diods
(b} Draw & simple Ball & rectifier with a reservorr capacitor and then d
wavetorm
1l 11 2o ide | \ 1t 1k VT 1 o f
| ! A " i | N J | I
1l el tnce K he maximyam vol of dronper
Defline the [ollow ters ! m
{a) .V, camers

SECTION C (60 marks)
Answer three (3) questions fram thie section

What is an tnoge frequency?
How can the second-channel intetference be manimized?

A superhet radio recerver bas an istermediong froquency ol 470 kHz and &5
kHz, Calculate the

{1} Frequency of the local oscillator

() Frequensy of the imags

Defins the term feadback

Draw a well-Iabelled block diagram just to show the LK MOop

A wide-Band amplifier has pain of (< 1000) without feedback and (=20)

Scanmng

(1 What pligntnsis in 3410 receivet s !
$ ' | Y
(11) Sante three (3) tuncahic SECHIONS GUTITE rmcho ahinment

Your radio teceiver i completely dead

sction for repair, what do you suspect to be the possible twe (2) problems

wned to 1063

willt nepative

raw s outoul

« 710 sound at the output), Before miing any





